normalized X?

lnul 'w u--—.u“ u .--.

e

0 2 4 6 8101214161820

X2

[ normalized x? probability |

Entries

15365

: 0.5005
- Lstd bev 0.315:

H”HHII 'H'

il
09 1

Prob(xz)

[0 "m

Il P i

H ] L

0.95%

=== DQM_CKF_TT_base

== DQM_CKF_TT_retrain

T

<prlp > (%)

Ratio

< x2/ ndf >

10? pw3

3 F .
g F :
A o N

L 4__ ------ .- ---------------
o L .
S :

g‘ fc] S R e I
Y F .

2F | E ]

| SRR | EPER RRT R P

Eo[fe 2 o
oF-- 1 -r*“'.ﬂ“"".-o-*‘-+“+ ]
_1:_. .....................

Ratio
U

=

T
—t—
———
——

0.5 - -

107 1 10

Ratio
.
o

i

0 2 3
TP n (PCA to beamline)

< X2/ ndf >
N
00

i

Ratio

1072 107
AR(track, ]et?



	Contents
	Page 1


